€00

600 /

€20

1o

—

8I'0

3B 30 1:100

0L0vE| 0591
wore| 1%l
6TSPE|  SOL
6TSPE| P59
Ieshe| 059
sTspe| 709
6TSPE|  16€
6cspe|  osp| CESPE] 09Y
sTse| sty
6TSPE|  T6°€
gTsrE| 70
syspe|  000| szspe| 0070
cosve| ocT
Tsve| Lt
srsve| LIy
eesve| 05| soeve|  To
srspe| 619
1esre| 059
60°SPE|  $89
sosve| ere
6ctpE|  pES
LoEPE|  SL6
weve| €9
6r1PE| 0F91
@ @ © ©
=3 =3 =3 =3
m 2 % 8
d &£ Y
81 3|8 3
S| 2| 8|2
c c - <
D S € 3
wn @ 2 @
S O =5
s 9 9 2
€ 3 28
~ el
» e ® e
- @ @

121+80.00

w00

900

610

ao

33L3B 530 1:100

8I'THE| 0591
9TI¥E| €Ll
99SHeE|  STL
0L'SHE| €59
LSHE| 09
LLSYE|  6€S
6LSYE| TS
08'SHE|  0Sp| SLSYE| ¥
89GrE| 61t
rosrE|l  98°€
68SYE|  000] 69SKE| 000
09sPE| 20
8SSre|  L9€E
yoSre|  Llb
08'SPE|  0SP| 19SPEl  ISH
9srE| LT
TLSrEl 059
6SSPE|  0L9
SSSrEl 6l'L
65°eve| 8501
6I'Tre| 9Iel
6I'cre| 9I'el
08T+E| 0591
@ [ae) @ @
=3 =3 =3 =}
m S m 3
2L 2L g
213|282
| 8| 3|
e < e <
9 3 € 3
D Q@ 2 @
Q@ c o
< 32 2 32
€ & are)
~ el
> R e
2 @ [ee}

122+0.00

325
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




100

700

610

1o

o

3B 30 1:100

6L1vE| 0591
SoTreE| 00°€l
worE| oL
1nrovel €59
€r9rel 059
1T9%E| 9
179%¢ 0S¥| 19v€|  9vy
609vE| 907
1rove|  88¢
[48°% 23 B < 23
0€9%E]  000| TI'9¥€| 000
orovel 790
0097E|  €Le
66SYEl VIV
1T9vE|  0S¥|909%E|  0SY
yoove|  LT9
€I9rel  0S9
86'SPE|  TL9
loSye|  8EL
SOvreE| €OTI
oleve| 9Ll
LOTrE| 0891
@ @ © @
=3 =3 =3 =3
m 8 m S
SRR
813|823
S| 8|38
e c e S
D 2 € S
D ® 2 X
o Q c o
s 9 9 2
€ 3 23
~ 2
» e ® e
S © ©

122+20.00

000

900

S1o

800

w00

33L3B 530 1:100

80°CHE| 0591
19Tre| 681
80'SHE| 606
LYOrE| €L
PSOPE|  0S9| PSIVEl  TS9
LS9YE|  T9S
9s9pE|  9I'S
997E| 0S| 9S9rE| oYY
6rorE| 'Y
rSopE|  88°€
PSopEl  1€T
1L9¥El  000| 9S9¥E| 000
0s9ve|  SLT
6rore| €L
LYO¥E| 9
99vE| 0S| bSopE|l  IST
959rE| LGS
PSOPE|  0S9| PSIVEl  LE9
SorEl  ¥S9
IdorEl  L69
LOSYE| 9001
YTrrEl OFl
SrTve| 6TSI
61'THE| 0591
@ [ae) @ @
=3 =3 =3 =}
m S m 3
2L 2L g
213|282
| 8| 3|
e < e <
9 3 € 3
D Q@ 2 @
Q@ c o
< 32 2 32
€ & are)
~ 2
> R e
2 @ [ee}

122+40.00

326
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




800

800

oro

900

3B 30 1:100

oreve| 891
YoveE| LEEI
189v€|  LL9
ogorg| Lro| BOVEl SE9
L69YEl 009
S69rE|  S9S
CoLE|  0Sh| 969PE| SV
689vE|  0TY
v69vE|  88°€
L69YE| 61
LYE] 000| 869FE| 000
869vE| 19T
869rE| €LE
v69ove|  8I't
€OLVEl  0ST
L69VEl 009
1697l 019
069|159
6LSHE| 98
L9EPE| SOT
LUSPE| 8E€El
P8TVE| PRI
S9THEl 091
@© @© @ ©
=3 =3 =3 =
m S m S
2L | 4|4
212|282
Z 3 g 3
e < e <
D S € 3
= @ 0 @
Q Q c @
e 2 D 2
€ 3 2 B
~ 2
) mw foe] mw
o @ e}

122+60.00

600

1o

1o

L0°0

100

19°¢ve| 0591
LOEVE| €8T
6l'vre| ¥0'ST
LY vpE| 86°¢l
£6'SPE ore
\ LI'LyE|  L89
4 9TLYE|  L19
ELYE 009
CELYE L6
€ELYE 0SS
i vrLve| osp| SELYE| LSY
‘ 8TLYE| WY
1€LYE 8¢
SELYE|l  8LO
€SLYEl 000] LELYE| 000
IELYE|  PTE
/ 9ELYE 08¢
1€LYE o'y
PLVE|  0SV| 8CLveE| S+
8CLYE| 009 6ELVE| W8S
9¢'LYE €09
9TLYE| L99
SI'ove 6£'8
oreve| 80°¢€l
—H €Ieve| 6961
caere| 091
@ [«<) @ @
=3 =3 =3 =}
% S m 3
2L 2L g
S| 3|22
e | 8| 3|
- c c
c g c
2 9 3 € 3
- o @ 2 @
) I~ IR] E o
0 e 2 9 2
2 v 3 o 2
= % O R o
@ > R e
-2 =]

122+80.00

327
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




00

170

61’0

ao

1’0

Y
pd

3B 30 1:100

vEERE| 0591
68°bYE| 09°€I
Twsve| 8911
179v€| S8
LYLYE| 169
bSLVE]  9€9
SLLVE[ 009
€OLVE|  66°S
€9LVE] 90§
PLVE|  0ST| coupe| 1w
9SLYE|  90F
€9LVE|  9LE
1LLbE| LIl
€6LVE|  000| PLLVE] 000
0LLYE|  TE
SoLVE| IV
PRLVE|  0SY| TLLYE|  6bY
69LYE|  €9°S
SLLVE[ 009
19LpE|  +T9
gzive| s IELYEl 1LY
L9THE| 6I'bl
vzl 15SI
1reve| 0591
@ @ © @
=3 =3 =3 =3
m 8 % S
SRR
813|823
S| 8|38
s < e S
D 2 € 3
n @ 2 @
=} s 8
e 2 9 2
€ 3 23
~ A
» e ® e
= @ @

123+0.00

670

610

sTo

110

800

33L3B 530 1:100

60erel SS9l
I8Sve| LETI
89'99¢ 178
ILLye|  8L9
YLLYE 969
I8ve| 009
I6LYE|  6£S
LI'8PE oSy 66LvE|  OF
woLrE| SO
96°LvE| t9€
LO'LYE 1ce
108¥€| €T0
9T8YE| 000 T08FE| 000
108¥¢|  +£0
20'8¥¢ I8¢
00'87¢ Ay
LI8PE 0S'¥| LO'8PE (424
LO8YE| 6LS
I8ye| 009
08¢ 19
96'LvE| 859
6¢£'Srel L901
99Tre| SI'ST
yI'ere| 0591
@ [«<) @ @
=3 =3 =3 =}
m S m S
204 L4
Z 5 8|3
S| 38| 3| &
s c e S
9 2 € 8
D ®© P ®
o9 S Q
s 2 H 2
€ 32 2 3
~ el
> R e
S © =]

123+20.00

328
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




LT0

170

1o

800

R ——

3B 30 1:100

06THE| 0591
00°€rE|l 0191
worel  ¥l6
v6ove|  SE8
608E| 769
€rsvel Ly
Pr8vel 009
0T8vE|  OLS
ST8pE|  €€¢
8T8YE|  SOS
0S8¥El  0SY| og'spe| Sty
€T8pe| Ol
8T8YE|  PLE
0S8FE|  ¥LT
Se8vE|  LTO
6587l 00°0| SE8PE| 000
sesve| €Il
PESPE| I8¢
wsre| oy
0S8pE| 0S| 6E8VE|  SYY
0r'8ve|  8TS
8C8PE| €S
vrsvel 009
9e8PE| €19
sesvel 159
6cEre| €TSI
16TrE| SO91
SLTHE| 0591
@ @ © ©
=3 =3 =3 =3
m S m S
2L | 4|4
B3| 8] 3
| 2| 3|3
e c e S
D S € S
n @ 2 @
o Q e 9
s 9 9 2
€ 3 28
~ )
» e ® e
o @ @

123+40.00

8I'0

LI'0

£ro

9o

—

33L3B 530 1:100

cLTre| 0891
16Che| SLSI
€LSYEl 8¥01
825723 org
€8¥E| 699
LS8YE €9
LLBYE 009 19°8bE 8C
§ | 998vE| L9V
£8'8¢ 0S'Y| 198p¢ P ad
09'8%¢| 60
S98E LLE
69'87¢ 681
0L8YE| TTO
°6'8%E|  00°0| OL'8YE| 000
698%¢| ¥TT
99'8%¢ 08¢
€o8ve|  LOY
egspe|  ogp| OL8YE] TV
€L8VE| 681
IL8ve| 0TS
79'8%¢ 1€¢
LL8PE 009 19°8bE a9
(43123 89'9
cLevel vSsl
SI'eve| 0591
@ [«<) @ @
=3 =3 =3 =}
m S m 3
2L 2L g
13|23
| 8| 3|
s c e <
D 3 € 3
B ® 5 ®
I~ IR] E o
s 2 H 2
€ 3 23
3 A
> R e
-2 =]

123+60.00

329
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




LI'0

£ro

120

8I'0

050

N

T

A

3B 30 1:100

ITrE| 0591
wTve| ops
gepe| sser
1LLvE|  0T8
188vE| €09
168rc| 6| 1O8FE[  6€9
orebe| 009
S68PE| 196
w6ve|  18%
orer| 05t poerel  ovy
L68PE| SO
webe|  €Le
voeve| 760
sTebe| 000 vo6rE| 000
668v€|  s€€
868p|  T8°€
168vE| €'t
orebe| 05| S68¥E| 8K
€68PE|  LYS
vLspe|  sLs
orere| 009
LSLbE| 6L
6LovE|  9v6
LTEPE| 0591
[«e} [ae) [ee} [ae)
=3 =3 =3 =3
m 3 % 3
0% 24
2| 23| 8|3
S| 2| 8|2
c c - <
D S € 3
n @ 2 @
S 9 =5
e 2 9 2
€ 2 2 B
~ el
» e ® e
o @ @

123+80.00

€70

8I'0

10

8I'0

L0

T

e E———

33L3B 530 1:100

€LTrE| L6'ST
S6SHE|  LSTI
L8YE|  6€8
Se/PE|  LIL
06'87€| 089
crove| 009
srork| 57
overe| 05| el e
LTeve| oY
yeove| 0L
8S6YE|  000| LEGYE| 000
PeoveE| 95T
0c6ve|  8LE
steve| U
orere| os| IE6rEl  SYY
8TOVE| 6TS
crove| 009
96kE| 059
88'8PE| 89
99°LYEl  0'6
OFErE| 0591
@ @© @© ©
=3 =3 =3 =
m S m 3
2L 2L g
212|283
| 8| 3|
e < e <
9 3 € 3
R X 2 @
o s o
e 2 2
€ 3 9 3
~ 2
n mw e} mu
S @ =)

124+0.00

330
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
Pe)
<




yI'o

900

€10

L1'0

wo

T T

AT

3B 30 1:100

LSEVEl 169
were| 169
reeve| 99
oLevel  009| 996ps| €6
. | PLoevEl €9
wove| osv|Vorel For
oLere|  LOY
YL 6vE e
sLeve|  60€
[66vE|  000| 8L'6¥E| 000
LLevel 790
Soeve| 8LE
6s6ve| U
[4:402% 0S| 996¥E| LYY
Soe6ve|  LOS
8S6ve|  ¥9°¢
9L 6vE 009
G "9
core) L9 os6ve| €59
06v¥e| 8EEl
orevel 0591
@ @ © @
=3 =3 =3 =3
m 8 % S
20424
g8l 3 |82
S| 8|38
s < - <
D 2 € 3
n @ 2 @
S 9 =20
s 9 9 2
€ 3 23
~ 2
» e ® e
= @ @

124+20.00

600

00

110

9o

LI'0

33L3B 530 1:100

19%¥€| 0591
wwsyel eyl
S8SPE| S801
I8LPE| 6£01
I8LYE| 96
ereve| SSL
erere| 69
6667 SI'9] 66'61¢ 179
60'0S€| 009
1rose| vL'v
SI'0sE 0Sv| zrose| Lvv
S0°0S€ ay
60'0SE| LLE
Irose| 6£¢C
Y20SE| 000 €I0SE| 000
LO0SE 9¢'1
66'67¢ SLE
woere| vy
SI'0sE 0S| 66'61¢ (US4
000se| OFS
600S€| 009 16pe| 809
68'6vE|  0£9
L86VE| €99
8S9rEl TSI
Yo'eve| 0SSI
@ [«<) @ @
=3 =3 =3 =3
m S m S
218 L)L
Z 5 8|3
S| 38| 3| &
= [« c c
9 2 € 8
D ®© P ®
o9 S Q
s 2 H 2
€ 32 2 3
~ A
> R e
S © =]

124+40.00

331
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




800

00

€ro

1o

o

P—

3B 30 1:100

Irevel 0591
LI'vvE| 69°¢€l
L6SYE| TITIL
6C0SE| L9
1€ose|  9¥'9
Peose| €19
wose| 009
Prose|  96'v
8Y0SE|  0SV| $t0sE| Sty
LEO0SE| Oy
Iy0se|  9oL¢
prose| 191
LS0SE| 000 S¥0sEl 000
LE0SE|  8I'C
€20SE|  0L'E
8C0SE| 86€
8C0SE| ¥’
8Y0S¢|  0S¥| SE0SE|  6F'Y
ogosel 1SS
wose| 009
LTOSEl €09 9z0sg| 09
61'0SE|  ¢6'9
wovreE| 0gSl
PEVEl 0591
@ @ © @
=3 =3 =3 =3
m S m S
AR AE
£ 13|83
S| 8| 3| &
e c e S
D 2 € 3
D ® 0 ®
o Q c
s 9 9 2
€ 3 23
~ 2
» e ® e
S © =]

124+60.00

L00

900

LI'0

1o

10

———

33L3B 530 1:100

orvre| 0SSI
SILvE| 8Y1l
8S0SE|  LSL
89'0S¢ 19| 89'0s¢ €19
SLOSE| 009
€L°0S€| 0TS
105 y
180s€|  0S wnwmm ww«
690s¢| UV
1L0SE|  8L€
pLOSE| €11
06'0SE|  000| PLOSE| 000
1L0SE| 60T
€905€|  0OL€E
090S¢| 60
180sg|  0Sp| L90SE|  v¥Y
690SE|  SSS
SLose| 009 19°0S€|  L6S
050E) ¥T9) 6s0sg|  ££9
170S€|  t¥L
9L9YE| YTEI
SOPPE| 0591
@ [ae) @ @
=3 =3 =3 =}
m S m 3
2L 2L g
s3] 2 3
| 8| 3|
s c e <
9 3 € 3
D Q@ 2 @
Q Q e 9
s 2 H 2
€ 3 2 3
~ el
> R e
2 @ [2=]

124+80.00

332
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




o

L1°0

€20

€0

670

B L

AT

3B 30 1:100

wrsyeEl 0591
08yel  1€T
78°0S¢ 178
6'05€ 619 ¥6'05¢ €09
LOTSE] 009
LOOSE|  LY'S
I0TSE| 9LV
EI1se 0y $60SE Wy
66'0SE|  80Y
86'0SE|  8€0
CCISEl 000] 66°0SE] 000
°60SE]  69¢
160SE| ¥6'€
sl os L80SE|  LEY
US4
°6'0SE| LSS
LOTSE 009 6L0s¢ 8%
vLOSE|  6V9| pL0SE| €59
yLOSE|  LOL
werel 976
YTsyel 0891
@ @ © @
=3 =3 =3 =3
AEAE AN
214184
g8l 3 |82
S| 28| 3|
s c e S
D 2 € S
B ® P ®
o Q S 2
s 9 9 2
€ 3 23
~ )
» e ® e
S ® @

125+0.00

SI'o

0z0

10

170

LI'0

S —

I

33L3B 530 1:100

1T9rE| 0591
LELYE| €SI
rise| 98
crIsel 999
SIIse| €79
1€1s€| 009
SI'ISE| LSS
6I'1Se|  LES
orrse|  L8¥
LET1SE| 0S| LITSE|  SSF
LUTSE|  8p€
9FISEl  000| PTISE| 000
TTISEl 90T
LET1SE| 0S| STISE|  9FY
€rise|  s6v
0TISE|  0€S
0TISE| 99
I€1E|  009| ¥IISE|  66'S
arise| 879
601SE| L9
SOTSE|  09L
16SHE| 091
@ @© @® ©
=3 =3 =3 =3
m S m 3
2L 2L g
gl 2|8 |3
| 8| 3|
e < e <
9 3 € 3
D Q@ 2 @
o Q e 9
e 2 2
€ 3 9 3
~ 2
> R e
= @ [==]

125+17.20

333
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




- = I S -
= s = 2 =
e —
3553530 1:100
~ <t (=3 D (=3 <t o0
603632930, 8 =3 3 3 3 e
1536MIISE) 2o o 5 z o
30BCIRO| 56902030, 3 8= z g s =3
O O <t (=) <t O O
o o — ~ oSV T =~ o o~ = o S o N > ) NS Q
[y 2 hs = = S99 = 3 8 9 8 8= o = = = <
Bodsoaso | POICIRIR0. B | g 3 z Z bkRbo & Z2 - Z Rk © & 2 ¥ 3
30965693930
8569082030, 9 b 5 e Sso v Q ®» 9 5o = g 3
S o o S T8a G 9 = s ¥3 3 8 < o <
125+20.00
— = Ise)
g = s :
35L8®530 1:100
609632030, 8 a9 3 > g 99
1536MIIS) ’ 77 7 7 3 ia
] - . 5 - 5 e
0 " =) vy o6 00
@ = @ 2 g n X e B ® = @
T R 7 7 7 7 17 2 7 7 7 7 Z
0 0
0965689 8560052050, 8 b = & = = ®g S @ @ = & 2
< ] o = & PR 2 pADS % bl v ©
128+40.00
MBOROLOL ‘JIFMLSERIRO LOSFBMIAMBOKR() dbS 334

9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




-
= 2 = = =
= = < S
— —
ASLBBS0 1:100
8E % S 5 £g
BS3EMIdB | FVIEIRI0, 3 i3 3 3 3 53
@ “@ “ el caen
A06GATO| 56902920, B o2 2 g 2 24
6 00 e =) v 0 0
609602030, 8 | 5 & 2 8 g g g g g % g Qe g g 2 s
BHIBOIA0 ’ % % % % % % 2 2 % % % 23 % 2 @ @
BM65GIFIBO - . - N - o =
8GO0, 8 | T g R 2 g 5 2 5 o s 2 22 2 . 3 ;
128+51.60
I ® § =) —
= s - s
— —~.
ASLBBS0 1:100
6060, 3 €8 § g 5 e
LO3EMIISM ' 77 7 7 3 R
BOIBSGIB0 | o oo ve = = g =
% &5 w 3 w o6
60692000, 8 | S & € % g g & g2 R 2 2 ® Q 2 2 = 2
B5IB0IH0 ’ % % % % % % % % % % % % % % 2 @ @
3M65GIIIB0
35600050, 3 A 3 R xR 0 = 2 0 2 s © o o oo 0 2
h=t kal s} =] =N % < w < S ) “ o~ = @ b
128+60.00
OBOL20L0L FITLSFLIL0 LoSFBOAIBOL) b 335

9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




= 2 : 8 2
[=} [=}
—
—\/
ASLIBSBO 1:100
60362030, 3 53 3 & 3 o =
Lo3®MIIBM Pagal a el Pl Faa]
865393980
8560052050, 8 I8 S s 2 s =
00 CO wy (=) wy o0 o0
Q Q = ] S X £ 8 £ S i =S S 5 ] S g
SOIHG’E]QUBO, 8 <t <r <t <t <t <t <t Nal <t <t <t < < <t <r <t <t
B53dB0IA0 P @ pa P 8 3 & & & P pa P P pa @ & &
865393980 - - - “ _ © -
BIGAORDR0, 8 | 3 = 3 g £ = 2 % 8 = 3 7 g g Z o <
128+80.00
. % o
///—__\/ T
ASLIBSB0 1:100
609632330, 3 84 3 e 3 9
LS3@HMIISM e e 2 8 2 B
365393930
8560052050, 8 s2 8 8 2 s g
o0 00 wy (=) vy o0 o0
o vy ™~ Ny — — N 0 — = [ <t =N N = — o %)
6060, 8| 3 B Rt SR > B B a 3 = = = S s 3 s 2
B53S0IA0 3 8Ran a a8 4 9 pa 4 pa 3 804 a 3 3
365393950
85640330, 9 R q AZE ey 2 « 2 " = <+ 3 @ SN 2 2N A
© = gccs = 2 o " s = = - = MR S S ©
129+0.00
MBOROLOL ‘JIFMLSERIRO LOSFBMIAMBOKR() dbS 336

9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




=+ = 8 S ®
s s = S S
4—_ N
ASLBBS0 1:100
60362030, 3 e < 2 N s
1536MIISE) ’ S P 4 a e
BOIBGIBIO| o o B e ﬁ - % -
0 00 e =) w 0 6
o0 8 | 8 @ Q 5 " 2 2 e 2 2 % ? 0 2
BOIBOIG0 ’ 4 4 g 4 2 8 4 4 2 @ g % 4 4 4 4
BM65GIFIBO
8360200, 8 | 7 2 g S : z g 4 3 3 2 g % a ¢ z
129+20.00
e & = .
! P < = =
(=] (=]
) —
ASLBBS0 1:100
609652030, g 3 2 s %
LO3GMIIS) ’ a8 a 8 a a2
363630 g 6 30080, 9 g8 % g 2 S
00 00 e =) vy %)
609602080, 8 | 4 2 2 £ 8 2 22 % = gE B =
BOIBOIG0) ’ 4 4 4 4 4 4 4 4 4 g% 7 4
3M65GIIIB0
8560052020, 8 | B & s o 2 2 g 3 5 38 R 7
— — o0 el wy o (=3 [32] wy oo oo N —
129+40.00
OBOL20L0L FITLSFLIL0 LoSFBOAIBOL) b 337

9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




0.19

z s - 8
- -
I
3553530 1:100

&8 e & 2 83

BS3EMIdB | FVIEIRI0, 3 a7 s 2 b pha

BBSGITO 56 90030, S 2 g 7 53

o0 0 wy (=) wy o0 o
3 2 & X =) g S g g g g S b g
Bade0uno | POPIRB0 D | g 4 4 7 7 7 7 7 7 5 % 7 4 7
30965693930 - - - o .
3569052330, 9 2 2 2 2 8 2 g E 7 5 @ 2 3 z

129+60.00
N a o
: 3 : g
//4.//—
35L8®530 1:100

0N o < [sa) o<t

60960230, 9 VRO N 3 @ oa

153GMIIB) P P b b fapa

8BGO g 6 30e030, B B R 8 2 35

o0 00 wy (=) wy 000
8 ; s g g = 5 3 9 5 2
B R 4 7 7 5 7 7 g% 7 7
3065693930 - N - o
8560092950, 3 7 ) 5 X 3 S 2 5 o aQ @
= fe BN = i S a % 2 o =

129+80.00

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd
9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




0.19
0.13
0.17
0.10
0.13

3B 30 1:100

609652030, e 3 7 2 o
L3OMIIB) 28 b2 g a Pt
8BGO o 6 30@030, B =S 2 8 2 &3
0 o6 e 1= e 0000
60063200, 3 | & z 2 5 g 5 5 9 5 g =
BSIB0IG0 ' 4 4 8 4 8 4 4 4 4 q 9
BM65GIBIBO
8560022080, 8 | R % © % s 2 - o 2 2 3
< E] > - 2 = p = s a3
130+0.00
. a "
n = S =3 S
_ = = .
f=] [=]
T
-
BSLBBS0 1:100
oo [ o [ [t
609692030, 8 23 & < g N
LO3GMIIS) P P b b papa
3BCIRO| 5569022030, 3 58 R g 3 B
o0 00 wy (=) vy o0 00
g 3 2 ] B 2 3 q 2 3 5 R S
Bage0uao | PPN 0| g ﬁ 525 § 57 253 @ 2
B065GI3IBO
8560052020, 8 | 3 5 % 9 g 2 a 2 3 3 = g
—_ = O ) <t =3 <t vy o~ o~ o0 — —
130+20.00
MBOROLOL ‘JIFILSERIKRO LOSBHMIMBORM) dbS 339

9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




o |2
S8
99'6S¢| 0591 9I'sse| 0591
)
QD
<
2
6Tsse| o0etl 2o
o
e @
w@ ~
YTssel el xR !
2o c
>3 mlm
Q = =
g = =
STSSE| poTT 2% %
e A -
0€'sse| ¥S1L M% W
2% c
2 2
S <
PLSSEl 6901 c
194
=
g
Y6'SSE|  T6'6 ~
\ €h95E 298 16°96¢ 9L'8
. 9r9se|  SI'g @ 9sose|  608| .
600 96°95¢ 008 6195€ 381 SO0 7995¢ 00'8| LS9SE 86'L
67'9SE|  LEL 6s9sc|  wzL
0L9¢| 009
£€995¢|  69°S 129S¢|  9L'S
€00 99'95¢ (USY 100 TL9SE 0SS
§99¢¢|  T9¢
7895¢ el
=
S g
0 —
700 LL9SEl  000| PL9SE| 000 M.T. 000 £€896E|  00°0| €8°9S€| 000 ..\TJ
(= [
«aQ «
1895¢| L€T
69'95¢ Soe
HOE 99'96¢ 0SS X - 90¢ TL9SE 0SS
L99SEl 9SS Ay 9r9se|  89°¢
°59sel 619
600 9¢9¢¢l 008 1'0 N 99¢¢l 008
[ orosel 918 ' Ly9SE|  TT8
/ Prosel  0F'8 LY'9SE 8¢'8
SE9SE| 868
11°9s€|  0€°01
69°6SE|  LSO1
So'ese| sLTl
STSsE|  SeEl
SHSSE|l 6971
S8PSE|l 60°SI
98¥SEl 0591 67SSEl 0591
@ e} @© © © @© @ ©
=3 =3 =3 =3 =3 =3 =3 =}
L& | 4] 4 2% £ |4
23| 813 23| 8] 3
g S| 28| 3| g 2|8 3|3
- c c - = c
c e c c e c
b D 2 € S b 9 2 € 8
2 oD @ £ @ 2 o 2D
%) o o c o %) Q c
© € 3 9 2 ) g 3 D 2
3 wm < 39 3 M DS R 8
@ A £ ® e @® 5 e R e
S ® =] a1 =]




3B 30 1:100

0.00

0.01

00
00

0-04
04

£

609632950, 3 g% 5 Z & o
1536MIISE) ’ pps b b P 22
3MB5GIFIBO
8560052030, 9 a5 = s = =9
o0 o wy (=) wy o0 0
>3BOIA0 4 4 4 2 2 2 a 2 a 8 8 2 a2 8 &8 4 4
3MB5GIFIBO
8569082350, 9 Z 2 & 2 3 2 o s s o = = % s S o 2
i< jae} = o o 7 = = < 4 = = Y = = = <
130+60.00
2
2 = =
(=3 (=]
/‘— I —
ALFDSBO 1:100
52 2 5 2 23
Bo3EMadem | F0IIRI0, B ot 5 2 2 25
8(M65GIFIBO
8564022030, 9 % 2 8 2 25
0000 wy (=) wy 00 00
5B @ = 3 8 8 aa 2 2 S 2 = =
mageoua | PO T ) 7 g ﬁ 5 5 & 2 37 2 2 5 a 2 2
8MBSGIFIBO
8560052030, 9 28 & Q Q 2 < S © © = Q g 2
e 9 S % < P s S S - a S o = =

131+0.00

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd
9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




1o

w00

YI'0

=~

—

3B 30 1:100

¥8°6SE|l 0591
68°SSE| LTI
wLse|l 9L
SOLSE|  ¥T8| gy -
zisel 008 90°LSE SI'8
€ILse|  TEL
6T LSE]  69¢
1€°LSE (USY
CELSE] 96T
9¢LSEl  8TO
rLSEl  00°0] SELSE] 000
PELSEl  86'Y
LS c'C
feLst) 06 £eLsel  ¥9¢
0TLSE] vO'L
PI'LSE oL
17L8€l 008
66'95€ €68
689S¢| LL8
0095 68T
8'6SE| LTl
PLSSEl 0591
@ @ © @
=3 =3 =3 =3
m 8 m S
RS
g8l 3 |82
S| 28| 3|
s c e S
D 2 € S
B ® P ®
o Q S 2
s 9 9 2
€ 3 23
~ )
» e ® e
S ® @

131+14.20

9oro

— N

700

800

33L3B 530 1:100

6'SSel 0591
96'Sse|  8I'TI
60'LSE| 798
IrLse| 978
8TLSE| 008
YILSE| v9L
LILSE|  TEL
geice|  ogg| YELSE|  09°€
SeLSE| ISV
I7LSE]  9T0
6FLSE|  000| I¥LSEl 000
oyLsE| 061
8CLSE 0S| 6c16¢ IS
veLSE|  TT9
orLse| 189
0CLSE| LYL
8TLSE| 008 vozsel s
9695¢|  8P'8
9€'95e| L601
8T9SE| P9I
09se| 86¢l
96'SsE| 0591
© @© @ @
=3 =3 =3 =}
% S m S
L€ )24
AR
S| 83| &
c c e <
5 3 € 8
n @ 2 @
S B ]
s 2 H 2
€ 2 33
~ <
> R e
o @ [ee}

131+20.00

342
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




61’0

oro

1o

900

910

—

3B 30 1:100

LO9SE| 0591
81'95€| STTI
09°95¢| 6201
lecel 1] 0ELSEl o0v8
ISLSE| 008| eerse|  v6L
IVLSE|  vTL
8y'LSE|  LTY
15|  ogg| 1SL5€E| 0SS
85'LSE| €8T
09°L5¢| 291
19°.5¢| 120
zoLsel 000 19°LSEl 000
09°L8€| SIT
19°L8¢|  05S| 9SLSE|  LY'S
ov'LsE| 959
9€'LSE|  €TL
IS'LSE) 008 serge| 08
EULSE| BTB| zeLse| €8
8T9SE| L0l
€6°5sE| ¥SH
z8'sse| 0591
@ @ © ©
=3 g | & =3
m S m S
O
22|22
S| 28| 3|
e < c S
5 B8 € 3
n @ £ D@
o Q c
e 2 2 32
€ 2 23
~ )
S e ® £
S @ ©

131+40.00

wo

S1o

ao

ao

N
—

A

33L3B 530 1:100

81'9¢| 0591
079s¢| 98I
1€9sg| 6T
7895¢| 666
€eLse| €98
el ool OPLSE| 618
- SSLSE|  S8L
wLse| L
9915¢|  LT9
cgLse|  oss|oLise|  €ss
6LLSE|  €TE
v8LsE| €20
96'L5E| 000| ¥8LSE[ 000
08s¢|  €0¢€
sgise| ogg| PELSEl OFS
orLse| w9
€95¢|  SvL
SLLse| 008| geyce|  org
95'5€| 678
csise| S8
ze9se| LT
88'55¢| 0591
© © @ @©
=3 =3 =3 =3
% 38 m 3
s W s m
S| 3|22
| 8| 3|
s c e S
9 3 € 3
D Q@ 0 @
=] s o
g 2 )
€ 3 9 3
~ A
> R e
2 @ [2=]

131+60.00

343
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




0z0

vI'o

L1°0

61’0

N

3B 30 1:100

0£9s€| 0591
0s9se| T
wisel  6T6

gose| 198

8615€| 08| yo/cel  en
I828€| 1L
9gse| 266

08se|  oss| 68Lsg|  TsS
wLse| 80y
90'85¢|  0€0

6I'8s€|  00'0| 90°8s€| 000
veLSE|  9EY
coLse|  vTs

808se| 0SS
0618€|  8LS

86.sc| oog| BLSE] O8L
69LSE|  t8
0sLse|l  €T6
6TLSE| 6L01
veose| oL
zeose| o€l
68'5s€| 0591

[«e} [ae) [ee} [ae)

=3 =3 =3 Iy

m S % 38

218|414

2| 23| 8|3

S| 2| 8|2

e c e S
D S € 3
n @ 2 @
o0 =20
e 2 9 2
€ 2 2 B
5 A

» e ® e
o @ @

131+80.00

E0

020

610

610

10

o~

33L3B 530 1:100

or9se| 0591
€T95E| VI
80°LSE|  OL'6
rssel 008 9%'LSE| T8
0'8SE|  8L9
ce8sE|l 0SS| zrgse|  zrs
0T8SE| o6£€
PT8SE|  €€0
€F8SEl  000| €T8SE| 000
€T8El  ¥E0
9I'8S¢ L8V
E8SE 0SS
°rsse| 0018 oosse| 128
86'LSE SE8| 86'LSE 6£'8
98'LSE|  SI'6
679s¢| 95Tl
LYSSE| €L6T
68°S5E| 0591
@ [«<) @ @
=3 =3 =3 =}
21§88
204 L4
S35 ¢
S| 83| &
e < e <
D 3 € 8
D D =ERe]
[ ] e o
s 2 H 2
€ 32 2 3
~ 2
> R e
S @ <]

132+0.00

344
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




S€0

€00

8I'0

610

§co

_

3B 30 1:100

61'9¢| 0591
STosE|l €911
°sLsel  LI'6
00'8S¢ 1T8| 1085€ 6l'8
LY8SEl  0S'L
SI'8se|  9TL
61'8S¢| 889
coscel  oss 1€85¢|  S9¢
€E8SEl  TO'S
87'85¢ €Il
8¥'8SEl  €€0
99'8GEl  000| L¥8SE| 000
6£8SE|  €0Y
LEBSE|  60°C
GG'8S¢E 0SS
PE8SE|  L8S
LV8SEl  0S'L
81'8S¢ €6'L
9I'sse| 8T8
0rssel  So6
IL'LSE]  6L6
yoose| II°¢l
PI'9sE|  88El
S8'GSE| 0591
@ @ © @
=3 =3 =3 =3
m 8 m S
RS
g8l 3 |82
S| 28| 3|
s c e S
D 2 € S
B ® P ®
o Q S 2
s 9 9 2
€ 3 23
5 A
» e ® e
S ® @

132+20.00

S0

4y

€0

0€0

33L3B 530 1:100

YT9se| 0591
8696l 9911
SCLSE|l  LL6
cT8sel 0T
9T8SE 'L
1L°8S¢ STL
Cr'8SEl 889
8L'8SE|  0SS| #S8SE| 0SS
S98s¢ 44
0L'8SE|  9¢0
68'8SC|  000] 698SE| 000
£985¢|  €ST
9¢'8SE|  6TS
8L'8SE 0SS
IY8SEl  L99
1L°8S¢ STL
9¢'8SE|  8LL
1€85¢| 678
ST8sE|l 906
SELSE| €Ol
609SE| I¥El
06'SSEl SO91
68'SSE| 0591
@ [«<) @ @
=3 =3 =3 =}
AEAEAN
204 L4
Z 5 8|3
S| 38| 3| &
s c e S
9 2 € 8
D ®© P ®
o9 S Q
s 2 H 2
€ 32 2 3
~ el
> R e
S © =]

132+40.00

345
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




€0

LT0

4

(430

et

3B 30 1:100

99'9S€| 0591
vL9sE|l 18T
1895 981
9t'8S¢ as
S8SE| YIL
S68SE| 00L| zgace|  sa0
1065€| 0SS
9L'85¢ 1€'s
G8'8S¢ 781
888Gl 6€°0
Ir6sel  000| 888SEl 000
LY'8SE 9C1
10°6S€ 0S°S| £186¢ LSS
S6'8SE|  00°L
sgse|  Lo| O5BSE| ST
8¥'8S¢ 91’8
9€'8SE| 06
60°LSE| 881
LY'9SE| 80°€l
cCose| syl
009S€| 9961
009s¢| 0591
@ e} © ©
=3 =3 =3 =3
m S % S
2L 4] 4
2812 | 8] 3
| 2| 3|3
s < - <
D S € S
n @ 2 @
=} s 8
s 9 9 2
€ 3 23
3 2
» e ® e
o @ @

132+60.00

LYo

9¢'0

920

jad0]

33L3B 530 1:100

L99S¢| 0591
99°9S¢| 891
09'9S¢| 06'TI
1L9s¢g| €Tt
86'LSE| €56
P1'8S€ LI'6
99'86E| €08
LI'6S€ €9°L
9L'8SE|  YO'L
£C65¢ €9
£68sE| 8¢S
96'8SE| 691
90'65¢ 1€0
SE6SE|  000] 90°6SE| 000
€0'6SE| €0V
106S€| 067
. .| o06sE|l  S6'S
£T6S¢ €9
L1'65¢ €L
0L'8SE| 062
65'8S¢ 0S8
€6°86¢| S8
£€695¢| TOTI
69'9S¢| TV
809s¢| TLSI
80'9S€| 0591
@ [«<) @ @
=3 =3 =3 =}
m S m S
204 L4
Z 5 8|3
S| 38| 3| &
s c e S
9 2 € 8
D ®© P ®
o9 S Q
s 2 H 2
€ 32 2 3
~ el
> R e
S © =]

132+80.00

346
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




840

9¢€0

10

€20

8¢€°0

3B 30 1:100

6L9SE| 0591
w9sE| LLT
£T8SE| 866
£€68SE|  LE6
. | L6'8SEl T8
6£'65¢ S8
10°6S¢ ISL
SYese SL9
oI'6se|  €LS
8€6SE|  LTO
65°65¢|  000] 8€°6SE| 000
9g6sEl 691
ST6SE 1S9
SH65¢ SL9
6cesel sz £0'65¢ 71’8
168S¢| €L
[68SE|  LS6
199¢¢| 15°€l
1795 0591
@ e} © @
=3 =3 =3 =3
m 8 m S
RS
g8l 3 |82
S| 28| 3|
s c - S
D S € S
B ® o ®
o Q s 0
s 9 9 2
€ 3 23
s 2
» e ® e
S ® =)

133+0.00

£9°0

LE0

120

€0

wo

33L3B 530 1:100

10°Ls€| 0591
€rLse| peer
ssse| seT
vo'sse| €Tl
196s€| 888
9r'6se|  £v'8
L96sg| geL| 6TOSEl  SYL
9r6sE|  ¥1'9
6v76sE| TS
1965€|  STO
T865€|  000] 196SE| 000
1965€| €0
0s6S€| 9T
176sE| LS9
8€65€|  S69
Lo6cc|  gey| TE6SE| 8TL
vTese| 158
196s¢| 888
wese|  LT6
L98sE| 8T01
SrLse| 69€1
86'95€| 9€'SI
v995€| 6091
12°95€| 0591
@ [«e} @ @
= I =
% S m S
204 L4
S| 3|22
S| 83| &
s c e S
9 2 € 2
n @ 2 @
=] s 8
s 2 H 2
€ 3 23
~ A
> R e
o @ [ee}

133+20.00

347
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




€20

3B 30 1:100

68°95¢| 0591
or'LsE| LOED
9L’ LSE[ 09T
€8¢ 8O'IL
£€86SE| 056
vEese| 088
68°65¢| 008
LY 6SE 18°L
PS6sEl  8TL
965¢ S99
99'65¢ €19
9L6SE| 981
6L'6SE| TV
SO09¢|  000| T86SE| 000
9L6Se|  L8T
126SE|  SLY
09'6SE|  9£9
9'6S¢|  SEL
68°65¢|  008] IS6SE| 008
or'6se|  LT6
£€86SE| 056
LT6SE| 0TO0I
66'85¢| SLOL
6C78S¢| 8I'T
S6'95¢| 8¢Sl
L896E| 0591
@ e} © @
=3 =3 =3 =3
m 8 m S
RS
g8l 3 |82
S| 28| 3|
s c - S
D S € S
B ® o ®
o Q s 0
s 9 9 2
€ 3 23
s 2
» e ® e
S ® =)

133+40.00

090

00

|

33L3B 530 1:100

90'Ls€| 0591
srise| 8941
L6LSE| TO€I
wesse| ecul
90'09¢| 296
ss6se| w6
rovs| gl 696sE| 1T8
€865¢| 002
0009¢| 19
y009€| 0971
8709¢|  000| 80°09¢| 000
S009|  ovT
6665€| SLY
0665€|  $09
0865¢|  69L
wove| s
89°65¢| 106
9009¢| o6 TIOSE| 166
956€| LI0L
ov6sc| Lol YIS AR
€085E| 0PI
8695€| LI
¥695€| 0591
@ [ae) @ @
=3 s =3 =3
7151%%
2| % %Y
Z 5 8|3
S| 2| 8|32
s c e <
9 3 € 3
D Q@ 0 @
=] s o
s 2 H 2
€ 3 2 3
~ A
> R e
2 @ [2=]

133+60.00

348
2015

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd

9(7653300)0: 39 343 - 33 49

c
)
@
<
&
e
€
~
c
o}
c
=y
7
<




0.17

———
/// \%\\
35LBBHB0 1:100
e Nel o 0 a =l N
60672000, 9 S i g % Y 2 3
1536MIIEM 7 g g g g g z
BUBSGIBIBO | g e o g 3 Q g g g & S
— N o0 (=) o0 N —
Bade0uan | COPIIRO 0| g g 25 % : : s : : : 2 B &
30965693930
8560052350, 8 23 ] g @ 5 2 g @ s = 2 g 3 2
o2 = S = © < 3 S <+ = 5 = = <
133+80.00
2 =]
g 2 - S 8
./_/ \\\%
3568530 1:100
Bo3EMIgB | B0BCURI0, 3 g g g g g g 4
80965693930
356002030, 3 g 2 a g @ 3 £
=2 X % S o =N —
2 8 q 4 5 3 g g 2 < & 2 S a &
O A I 2 g g g : g = T € 2 7 7
B065GIBIB0 - _ < o
836002080, 8 | 3 £ 2 g 2 % 2 5 g % 5 3 g = z
—_— — [=)} 0 O <t =3 o~ <t ™~ e = — - -
134+0.00

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd
9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0




023

Jan) o 2 [
2 s S 2
| ] \\
/// \‘\
3OS0 1:100
609620, 3 S & g 2 o g 2
LS3GMAIS) ’ 2 g o] 5] 5] g 2
BOBSGIIRO| 4 a0, g 5 . . < . . 5
— = o0 =3 o0 =) —
(=) e o = = =) (=} wv o N (=} = [ — o [N [ el
. 6096020, 3 s 2 s 2 S S 2 2 2 = - 2 2 2 =g AN
5IBOIB0 a 1 2 3 3 3 2 2 2 3 2 3 3 3 3 2 & 3
3MB5GIFIB0
83600020, 8 | F  § I ¢ g 2 2 g 8 5 8 8 g 2 32 5 83
2 4] = S < o < = 3 - < A = < x = 2 =
134+20.00
- a o
8 A S = &
it S S 2
- I
A I —
— 1 \.
ASLFBSB0 1:100
< o ol D o o (a0
o < it 3 it S “
S 3Madem | 60RO, 3 g 3 z 3 2 g 2
B065GIBIO| g om0 g S % S % g &
=] e o6 3 o6 =] Jas]
g & s & % s g 3 = J & 8 S = N & = & g
Bage0uao | POPIRN0. 0| g Z RN : : s s s - 5 ¢ 7 2
BOBGIOO| 4 a0z, 8 | ® g =¥ 7 2 9 & R 2 S B = g s 8 Z 2 g
© ) = S g s % < < 2 = 2 < “ < = e = °

134+40.00

MBHOROLOL ‘IBMLOSRIRO LOS3BHMAOR() dbd
9(7653300)0: 39 343 - 33 49

356030 3@MBORIS0






